Pli 7l

SIGNATURE SERIES
SBBR

SIGNATURE BARBELL RACK

Customer Support Services

PARTS LIST

Page 1



SBBR SIGNATURE BARBELL RACK

CONTENTS
PAGE
COMPONENT ASSEMBLY 3
COMPONENT ASSEMBLY LEGEND 4
RIGHT SIDE FRAME ASSEMBLY S
RIGHT SIDE FRAME ASSEMBLY LEGEND 6
LEFT SIDE FRAME ASSEMBLY /
LEFT SIDE FRAME ASSEMBLY LEGEND 8

IMAGE 9

Page 2



SBBR SIGNATURE BARBELL RACK

COMPONENT ASSEMBLY

SEE PAGE 4 FOR LEGEND

Page 3



SBBR SIGNATURE BARBELL RACK
COMPONENT ASSEMBLY LEGEND

ITEM NO.| PART NUMBER QTY. |DESCRIPTION
1 81431XX 1 WLDMT, SBBR, TOP CONNECTION
2 @256210 4 |SCREW, M10 X1.5 65MM
3 3256222 4  |SCREW, M10 X1.5 140MM
4 @n02514 16 |WASHER, FLAT 3/8" SAE ST ZN
5 81851XX 1 PTD. ASSY, SBBR, RIGHT UPRIGHT
6 81435XX 1 PTD. ASSY, SBBR, LEFT UPRIGHT
7/ @242002 8 NUT, M10 X 1.5 HEX NYLOCK
8 @m37801 1 DECAL, WARNING, VERT, MULTI- LANG SHEET
9 83101XX 1 WLDMT, SBBR, LOWER BRACE

Page 4



https://www.gympart.com/itemdesc.aspx?ic=LFS2102&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=LFS437&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=LF11299&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=LFS1614&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams

SBBR SIGNATURE BARBELL RACK

RIGHT SIDE FRAME ASSEMBLY - 81851XX

SEE PAGE 6 FOR LEGEND

Page 5



SBBR SIGNATURE BARBELL RACK
RIGHT SIDE FRAME ASSEMBLY LEGEND

ITEM NO.| PARTNO. | QTY. |[DESCRIPTION
| 81851XX 1 |PTD ASSY, SBBR, RIGHT UPRIGHT
2 #800501 2 |CAP, SML FLOV END
3 #800401 2 |CAP, LRG FLOV END
4 @@esO 1 2 |PAD, RUBBER FOOT
5 @047402 2 |GUARD, SHORT PAINT
6 8287403 2 |PLUG, 1"HOLE
7/ 8289102 8 |SCREW, M5X12 PHL PAN TT ST BZ
8 @12407 8 |WASHER, SAE #10
9 8171701 12 |TAPE, DOUBLE SIDED, SHR, SBBR
10 @EAVE02401 1 |LABEL, V WARNING 4.5 X 1.625
11 #86520 1 1 |LABEL, LIFE FITNESS LOGO

Page 6



https://www.gympart.com/itemdesc.aspx?ic=LFS1667&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=LFS385&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=LFS2065&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=LFS083&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=LFS765&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=LFS1333&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=LFS612&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=LFS268&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=LF12799&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=LF18648&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams

SBBR SIGNATURE BARBELL RACK
LEFT SIDE FRAME ASSEMBLY - 81435XX

SEE PAGE 8 FOR LEGEND



SBBR SIGNATURE BARBELL RACK
LEFT SIDE FRAME ASSEMBLY LEGEND

ITEM NO. QTY. PART NO. [DESCRIPTION
| | 81435XX |PTD ASSY, SBBR, LEFT UPRIGHT
2 2 @@eEs01 |CAP, SML FLOV END
3 2 @@leE@1 |CAP, LRG FLOV END
4 2 @EEE) |PAD, RUBBER FOOT
5 2 @02 |GUARD, SHORT PAINT
6 2 @Ee8 |PLUG, 1"HOLE
/ 8 @EERNe2 (SCREW, M5X12 PHL PAN TT ST BZ
8 8 @47 |WASHER, SAE #10
9 12 8171701 |TAPE, DOUBLE SIDED, SHR, SBBR
10 | 8106801 |[LABEL, SERIAL NUMBER, LARGE
11 | @@ES201 |LABEL, LIFE FITNESS LOGO

Page 8



https://www.gympart.com/itemdesc.aspx?ic=LFS1667&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=LFS385&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=LFS2065&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=LFS083&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=LFS765&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=LFS1333&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=LFS612&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=LFS268&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=LF12799&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams

SBBR SIGNATURE BARBELL RACK
IMAGE




	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6
	Page 7
	Page 8
	Page 9

